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def katakana_to_hepburn_with_spaces (text) :
# pykakasi M #)EA1E
kakasi = pykakasi. kakasi ()

kakasi.setMode ("K”, “H”) # HhA2AhFTZFRAICEH
kakasi.setMode ("H”, “a”) # F{RBZ*O—IFIZLEH#
kakasi.setMode ("J”, “a”) # EFH#O—TF(CE#H

conv = kakasi. getConverter ()

t THXRFELTHH

converted_text = conv. do(text)

t REFEFEZFATHICETHRAZ

converted_text = converted_text.replace("—", ” ”).replace(” -

return converted text

# {5 R

text = "a—k—- 557"

converted_text = katakana _to_hepburn_with_spaces (text)
print (converted_text)
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However, based on the provided logic and assuming the pykakasi |ibrary functi
ons as intended, the input “3I—bE— - 57" would be processed as fol lows:

- "3—k—" would typically be transliterated to “koohii” in Hepburn Romanizat
ion.

“« 55" would be transliterated to “rate”.

The “—” (long vowel marker) in “2—E—" and the "+ ” (middle dot) would be
replaced with a space.

Given these rules, the output for “a—E— - 57" with the long vowel marker
and middle dot replaced by spaces would |ikely be “koohi rate”, though the exa
ct transliteration might vary depending on specific implementation details of t
he pykakasi library. Without the ability to execute the library directly, this
is a theoretical outcome based on the described program logic.
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import pykakasi

def split_and_convert (text):
# pykakasi M #IHA1L
kakasi = pykakasi.kakasi ()

kakasi.setMode ("K”, “H”) # HhA2 AT ZFRAICEH
kakasi.setMode ("H”, “a”) # FRB/ZFO—IFIZE#
kakasi.setMode ("J”, “a”) # EFH#O—TF(CE#H



conv = kakasi. getConverter ()

#E%Eﬂ%t¢%%ﬂ%’6ﬁ%ﬂ S o
fragments = text.replace("—", " -").split(" ")

# EAZEO—FICER

roman_fragments = [conv. do(fragment) for fragment in fragments]

B AR—RATHEE
result = J0|n(roman fragments)

return result

# A

text = "a—E—- 357"

converted_text = split_and_convert (text)
print (converted_text)
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import pykakasi

# pykakasi D #)EAME & %5E
kakasi = pykakasi. kakasi ()
kakasi.setMode ("H”, “a”) #
kakasi. setMode (K", "a”) #
kakasi.setMode ("J”, “a”) #;
kakasi. setMode (“r”, “Hepburn”
conv = kakasi. getConverter ()

def convert_and_join(word) : .
# REGLS T—) EhESF c5 -] THEZHE
fragments = re.split( ——| , word)

# EMAZEO0—FICER

romanized_fragments = [conv. do(fragment) for fragment in fragments]

#T@éht%ﬁ§XA—ZTOQHé
return “ 7. join(romanized_fragments)

B OVEEEE
word = "a—ke—--JLA4%H”

# BEAMETOH L TE#R
converted_word = convert_and_join (word)
print (converted_word)
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import pykakasi X .
import re # ERRRINED21—ILEA Vik—

# pykakasi D #)EAME & % 5E
kakasi = pykakasi. kakasi ()
kakasi.setMode ("H”, “a”) #
kakasi. setMode ("K”, "a”) #
kakasi.setMode ("J”, “a”) #;
kakasi. setMode ("r”, “Hepburn”
conv = kakasi. getConverter ()

def convert_and_join(word) : .
# REGLS T—) EhESF g5 [ -] THEZSE
fragments = re.split( ——| , word)

# EAZEO0—FICER

romanized_fragments = [conv. do(fragment) for fragment in fragments]

# RBSN-TREAN—ZATORITS

return © 7. join(romanized_fragments)

B OEEEE
word = "a—ke—--JLAH”

# BEAMETOH L TE#R
converted_word = convert_and_join (word)
print (converted_word)
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# (Python7A4Y S L)
#SW%@%%%ﬁ%T—Q
shk_dict = { .
a’: "a’, "b”: "b”, “c¢”: "r”, "d”: "d”, "e”: Te”, Uf7: Uf7, Tg": "tY, "h": "i”,
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def fragment_convert_Hira_Roman_join_and

_to_SHK
# RERLE [— EhERS -] THEEZNE
fragments = re.split( '—| ", word )

# EAZEO0—FICER

romanized_fragments = [ conv02.do( fragment ) for fragment in fragments ]

# RSN REAN—ZATORITS

romaji_01 = . join( romanized_fragments )

#H# ob, 2B, 26w, ob k., o6z tchlITxAL, 2024.2.29
- romaji_02 = romaji_O1.replace( “tch”, “cch” ) # —%k. &%&. H&. HEHD “c
c

( word ) :
I

#
T shk = "' . join( [shk_dict[ char ] for char in romaji_02 if char in shk_dict
#

return shk



